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For one who is suspect — RNYIZWNR TOR7 K? RN TORIT
concerning money, is not suspect concerning an oath

OVERVIEW

The X773 states that a XX 7wWn 1s not XPYAWR 7wh. Our MO offers
explanations for this ruling and discusses the difference between a Twn
X11MAKR who is 7312w? qws and a 1213 who is 72w 9os.

— %(x,99 91) N1IY*2 NSPNTD 1mmn AMAYT DIVN RNDYO 1I»AT AN
It seems that the reason why a X171R 70 1s not XNYM2WR 7w, is because

72w is a stringent prohibition as is mentioned in X2 NJ0n -
— YD XD 5y Y971 ©2IWNY *x,05 91 MHIMAYI)

And in my1aw noon it states that the world trembled when '77 said R@n XY —

nvoIn asks:
— 509 Yav) 1)aY 99NT 41191:\05 9909 191) INNN 19 ON INN ON)

And if you will say; if this is indeed so, that 7¥12¥ is more i than
stealing, then why is a thief 712w% 105 that we rule if a 1213 is obligated to

swear, we do not allow him to, but rather his opponent swears and takes
the money!

mBoDIN answers:
- 61)2‘1‘”3 NIN IAVY D109 XY 1907 999 v

And one can say that a 1213 is not 77107 12 722WY 9105, only 12977,

"It is more stringent than 1an X% (which is ‘merely’ a 7wyn X7)

2 The xn™2 (beginning on the bottom of 2,779) states RwN X2 YW1 Awyn &2 7wy m>2p 17 792X; indicating that
XWn R? (which is R n12w) is from the N1 NI (as opposed to 1m0 82 which is from the nYop).

? The x7m3 there states (beginning on the bottom of 2,7%) that 72 tells the ¥aw1, ‘you should know 95w
RIWY PO ' oW DR XWN XY 102 7"2p0 MR Ywa Vv 190 ahwi’.

* The 7wn is allowed to swear; even though we suspect that he is lying (and therefore willing to steal). We
administer the oath to the 7w with the assumption that he is lying (for if he is not lying, why give him an
oath). The purpose of the oath is to prevent him from lying (he will recant and not swear falsely). If we
assume that he is lying and willing to steal, seemingly he will just as easily swear falsely; nevertheless we
administer this oath, because we assume that even though he is willing to steal, he will not swear falsely
(since 7312w is 771mn). The question Moo asks is that a 1713 should also be allowed to swear even though
he is willing to steal (since 7¥12w is 77m). What is the difference between a 7wn and a 7213?!

> We should allow the 173 to swear and not pay, instead of having the 1732w swear and take his money.

6 A 1om is really 7912w WD since XN2WK TR K2 Xk 7wn. However the onon instituted that we will
not allow the 1713 to swear, since it is public knowledge that he is a 7213 it would seem improper to have him
swear (see °21221 1"7n in 2,81 7). However by a 7wn since he is not a certified 1213 (he may be telling the
truth), there is no impropriety in allowing him to swear, and we are not concerned that he will swear falsely
since X"M78m.
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— 719 YU HYUN YN DIYM KNMNNTI 10T NI MY
It is only for n17y that he is Xn>mIX7» 982 because it is written nwn N
TV YW, the 770 specifically prohibited a ¥y from being a witness (a 1213 is a yw).

mooin offers an alternate answer; differentiating between a 7wn and a 171
— AMAYYT YU NINNNX TIYNT XD TN NTINY 229 290 BV DIVI919 YN

And others explain in the name of 7°o1 77737° 9''7 that the reason a 7>wn

NIVABR IS 7212WD WD is -
— 5 WD AAY M1 Yy NWT DIVUN

Because perhaps through (the additional prohibition of) the 2w he will

distance himself from stealing -
— Sngyawm 110 NIN YN 19X PHNNY 1 INT 191 YaN

However a certified o153, just as he is not held back from taking other
people’s money, he will also not be prevented from swearing falsely.

Moo responds to an anticipated question:
— 9109 MNNIN 119390 DIART 192 YTINDNRT NIV NINNN NYP N

And there is no difficulty (to the explanation of the *»") from the case of
NXova X7 where they testified that he ate some of the sheep; why should

he be 905 for a 712w (according to the n'™) -
— VAV 2T HY VIO INVYNNY DYV 1098 HaNT 9N T73P2a%

Since the two sheep that he ate he is required to pay (so therefore he is no
longer a 1713), and concerning the rest of the sheep which we suspect he

stole, he will refrain from lying through the 712w which we will administer,
since he is now merely a 7w and not a 913! Why do we not let the X*v1 swear?!

mooin replies:
— OYYN NI JYT NOTYN NAYN NT PN D1Y 1 by DHWN NINY NNY

For that which he is paying because of the witnesses’ testimony; that is
not considered a proper return (to acquit him from being considered a

" The 109 (in X,3 [0°0own] MAw) reads DM 79 NPAY YA OV T7° NN 9N,

¥ The difference seems to be as follows; the Twn did not yet steal the money (at worst he is possibly
‘merely’ lying and trying to keep the money he owes), it is possible that (on account of the 7¥12w) he may
admit and pay back the money. Therefore we administer the oath to him. However this 7213 stole money
already and did not return it (willingly), proving that he is not concerned about stealing at all, so therefore
in this new case he will continue to steal and swear falsely. [See (*»°7 27 X7 7"72) WINAT K"V W0
where he states: X2 R Wav Qyy XY SNOXT X7 AR L0971 DR R 1WA L,RNORT RAYL avyy D1 ORTIT anaT B
79702 NN T2YnY Y2 RYT RYT ORI ORT 0.

? See “Thinking it over’ # 3.
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1213), for he is paying against his will. Therefore since he remains a 1213 even after
he pays for the sheep he is 7312w 705,

Moo concludes:
$INTYY DIV 11792 99199 NPV 1M

And this is also the reason that one who denies holding a deposit is »102

MTYY if witnesses testify that when he denied holding the deposit we saw it in his
possession. He is m7v% 9109 even though he will return the N7pd, because he is not
returning the 77772 willingly, only because he is forced to do so by the 0>7v nX7vr.

SUMMARY

A RIANR YN s not XNYIAWKR TWR since AW is more T than Y.
Therefore even a 1713 is 7v1awH 709 only 1327774, Alternately only a 7°wn is
TY12W5 w> because perhaps he will admit on account of the n12aw; however
a confirmed 773 is 7¥12WY 9109, A 1913 can be reinstated to be 72wy W if
he returns the 7%°13 voluntarily.

THINKING IT OVER

1. Moo (in the first answer) maintains that a 7213 is X772 NMITY2 2109,
however concerning a 7312w he is 709 only 1127972. Why is there this
difference between M7y and 712w?'°

2. Ts a 9109 1213 to swear XnN» K72

3. Is the question from '*X*¥1 X777 on the »" only, or on the first answer as
well?"

10See 7"mx # 67, 30 NIX 7"310, and 2P MR "2,
' See 79p MX *'"oa.

12'See footnote # 9.

5 See xp mx 2"n.
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